Number of Events

N
o

=
O1
T T T

=
o

2]1lpmiss

Data
sig : 100%




Number of Events

N
o

=
O1
T T T

=
o

2]1lpmiss

Data
sig : 100%

l
\ |

}
|

|

A
AR(J1,)2)




Number of Events

2]1lpmiss Data
; sig : 100%
30
20+
]
101~ | T [
i T
— I :
oL e 0 hk— = |
200 400 600

M(j1,i2) (GeV)



Number of Events

2]1lpmiss Data

: sig : 100%
.
o {

I )

B l R l
Lt B |‘ TH‘ |
o 1 2 3

AQ(1,)2) (radians)




2]1lpmiss - Data

W
)

N
o

Number of Events
H
o

sig : 100%

-[.
I\%ITTWI T

S S SR (N ?

—

| | | | | | |
100 200 300
Mt(j2,pmiss) (GeV)




Number of Events

157

10

O1

2]1lpmiss - Data

sig : 100%

A@(2,pmiss) (radians)




Number of Events

40

30

20

10

2]1lpmiss

Data
sig : 100%

BRI

s

—

40 60
P (GeV)

r I
80 100



Number of Events

40

30

20

10

2]1lpmiss - Data

: sig : 100%

: [

ET T T I

R R A T ST I O S
40 60 30 100

clusteredObjectsRecoll p. (GeV)



Number of Events

10

2]1lpmiss Data
sig : 100%
TL
SRl
B T T




Number of Events

10

2]1lpmiss Data
sig : 100%
TL
L Y
B R B
|1 detEta




Number of Events

= = N
o Ol o
[T [T [T

o1
T T T

o
- [

2]1lpmiss - Data
o sig : 100%
= L
F- A O I S
e B R S S s [
) 10 15 20

M(j1) (GeV)




Number of Events

30

N
o

=
o

2]1lpmiss Data

: sig : 100%

C L

? | ]

AR e

R R SR B P SO i o DR S
40 60 80 100

i1p_(GeV)



Number of Events

40

30

20

10

2]1lpmiss

o—

—
—_
—_

— °

{
1

Data
sig : 100%

]
!
| | ¢

]
*

¢ ¢ |
40

2p_(GeV)



= N
) o
J T | 1T T 1 | T T 1 | T 1T 1 | T

Number of Events
|_\
o

2]1lpmiss - Data
sig : 100%

T 11

SR SR
e rnthy 1y

R B
5 10 15 20
M(j2) (GeV)



Number of Events

10

2]1lpmiss

Data
sig : 100%

j1o@(radians)



Number of Events

N
o

=
O1

=
o

o1

2]1lpmiss

* Data

sig : 100%

T
HH%

| |

o
|

7100

200

Mt(j1,pmiss) (GeV)

|
300



Number of Events

_2j1pmiss Data

; sig : 100%
10

5

SURRIRTAREART IR
BN T

]2 @ (radians)




Number of Events

N
o

=
o

2]1lpmiss Data
sig : 100%
l
[ ] I
S I LD A U i e SO
10 15

minMass(j) (GeV)




Number of Events

2]1lpmiss Data
15— .
i sig : 100%
10
5_— :
il
0 T N !
100 200 300

sumPt (GeV)




Number of Events

= =
o o1
| |

o1
|

2]1lpmiss - Data

sig : 100%

T

SR T}

D 2 2.9 3

maxAPhi(j,pmiss) (radians)




Number of Events

10

=
o1
— |

o1
|

2]1lpmiss

* Data

sig : 100%

EEEREREE
| 1

-

]

.1....2.

MINAPhI(],pmiss) (radians)




Number of Events

2j1pmiss * Data

20 sig : 100%
15

10 |

; ]

UEITIE R SRS S

A@(jl,pmiss) (radians)



Number of Events

2]1lpmiss Data

; sig : 100%
10

5

TR
S R

pmiss @ (radians)




Number of Events

_2j1pmiss Data

j sig : 100%
10—

el

AR AR
B U I




Number of Events

_2j1pmiss Data

j sig : 100%
10—

el

AR AR

O BUL RN




Number of Events

2]1lpmiss Data
i sig : 100%
100
50—
] I
B |
| ] | | I
01 05 0 05

uncl P (GeV)




